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1. Let R be the shaded region in the first quadrant enclosed by the graphs of v = &~
y-axis, as shown in the figure above.

. v=1-cos x,andt

ia) Find the area of the region R. . 4?2{2
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VOLUME: DISKS

Ex 1. Find the volume if the region enclosing
y =2x, y =6, x = 0is rotated about the y axis
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Ex 2: Find the volume if the region enclosing
y =2x,y =6, x = 0is rotated about y=6
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VOLUME: DISKS

Ex1: Find the volume if the region enclosing
y=2x, y =0, x =3 is rotated about the x axis
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Ex 2: Find the volume if the region enclosing

y= 2x, ¥y =0, x = 3 is rotated about x=3
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VOLUME: WASHERS

Ex 1: Find the volume if the region enclosing
y=2x,y=0, x=3is rotated about y=6
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Ex 1: Find the volume if the region enclosing
y =2x,y =0, x =3 is rotated about the y-axis
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In Exercises 7-10, set up and evaluate the inte
volume of the solid formed by revolving the
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0. x = —y* + 4y
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In Exercises 11-14, find the volume of the solid generated by

revolving the region bounded by the graphs of the equations
about the given lines,
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Attachments

Q Calc - WS on Differential Equations.doc



AP CALCULUS 

WORKSHEET ON DIFFERENTIAL EQUATIONS


Work the following on notebook paper.  Do not use your calculator.


Solve the initial value problem by separation of variables.


  1. 

[image: image1.wmf]2


 given  5 when 3


dyx


yx


dxy


==-=




2. 

[image: image2.wmf](


)


2


6  and  04


dy


xyy


dx


==




  3. 

[image: image3.wmf](


)


2


1


  and  04


dy


y


dxy


==






4. 

[image: image4.wmf](


)


1


  and  29


dyx


y


dx


y


+


==




  5. 

[image: image5.wmf](


)


2


  and  10.25


dy


xyy


dx


=-=-





6. 

[image: image6.wmf](


)


4ln


  and  9


yx


dy


ye


dxx


==




  7. Find an equation of the curve that satisfies  
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 and whose  y-intercept is 7.


  8. Find an equation of the curve that passes through the point (1, 1) and whose slope


      at (x, y) is  
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  9. If  
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 and if  y = 1 when  t = 0, what is the value of  t for which  
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____________________________________________________________________________

Multiple choice:


12. If  
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 when  x = 1, then when  x = 2,  y = 
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13.  If  
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_____________________________________________________________________________


Write and solve the differential equation that models the given verbal statement.


14. The rate of change of  N with respect to  s is proportional to 250 – N.


15. The rate of change of  R with respect to  t is inversely proportional to the square root of  R.


16. The rate of change of  y with respect to  x varies jointly with  x and  L – y.
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